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9. THE KEYNESIAN THEORY OF DETERMINATION OF NATIONAL INGOME

ASSIGNMENT SOLUTIONS

PROBLEM NO: 1
Given, MPC = 0.75
To find
i)y MPS=1-MPC=1-075=025
ii) Investment Multiplier (k) = B SRPOT T
MPS  0.25
PROBLEM NO: 2

Given,

Investment Multiplier (k) = 5

ie. 0.2

1 =5 —MPS = l
S 5
To find

MPC=1-MPS=1-02=0.8

Pnoslr;@g
Given, Income increases due to increase in mv@$>

Increase in Investment (/_\I) =+ 200 Crores

Increase in Income (AY) = +1,000 Cror, %
To find, MPC with the given information lculate Investment Multiplier (k)
_ AY _ 1000 _
Al 200
@, b
MPS

MPS = L =0.2
5

MPC=1-MPS=1-02=0.8
PROBLEM NO:4

Given, Income increases due to increase in investment

Investment increases from Rs.300 crores to Rs.500 crores (/_\I) =+ 200 Crores

Total income increases from Rs.1000 to Rs.2000 crores (AY) =+ 1000 Crores

To find,
i) Investment Multiplier (k) = AY 1990
Al 200
i) IVIPS=1= l=02
k 5
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PROBLEM NO: 5

Given,
MPC =0.75
MPS=1-MPC=1-0.75=0.25

Increase in Investment (Al) = Rs. 300
To find Increase in Income (AY)

k:ﬁ
Al

4= ﬂ: AY =Rs. 1,200
300

PROBLEM NO: 6

Given,

Increase in income = 7,500 Crore
Increase in investment = 2,500 Crore
Therefore,

Investment multiplier (k) =AY /Al or @%

AY [Al =1/1-MPC

7,500/2,500 = 1/1-MPC @

MPC = 0.67
ﬁ LEM NO:7
MPC = 0.6 @w

MPS =04

Change in Government Expenditure (AGE) = Rs.5 billion
To find its effect on GDP (AY)

i) Government Expenditure Multiplier (k) = [A‘gE} = [1 I‘:’PCJ = [ﬁ}

AY _ (1 )o4/04=25tmes
AGE | MPS

ii} Impact of Rs. 5 billion increase in government expenditure on equilibrium GDP (income)

_AY (1
AGE ~ \MPS

S

= — = = AY = = 12.5 billion
5 0.4 0.4
PROBLEM NO: 8
a) At equilibrium output, Income = Expenditure
ieY=C+1+G

or Y =160+ 0.6 (Y - 100) + 150 + 150
Y (1-0.6)= 460 -60
Y = 1,000 which is the equilibrium level of output
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b} When G increases to 200
At equilibrium, Output = Expenditure
Y=C+1+G
Or, Y =160+ 0.6 (Y - 100) + 150 + 200
Y (1-0.6)=510-60
Y = 1,125 which is the new equilibrium output when G increases to 200
Now, increase in G =dG =200 - 150 =50
Increase in Output Y =dY =1,125- 1,000 =125

Hence with an increase in government expenditure, real output increases. Output increases. Output
increases by 2.5 times of increase in government expenditure.

¢} When T falls to 50
At equilibrium, Output = Expenditure
ieY=C+I+G
or, Y =160+ 0.6 (Y -50) + 150 + 100
or, Y (1-0.6)=460-30
or, Y = 1,075 which is the new equilibrium output when T falls to 50
Now, decrease in T=dT=100-50=50
Increase in output Y =dY = 1,075 -1,000 =75

o dy 75 @
Tax multiplier= — = — =15
PIer= N\

Hence with a decrease in tax, real output increg eal output increases by 1.5 times of decrease in tax.

M NO: 9
Given:

Consumption function (C) = 300 + 0.75

Investment (1) = Rs.800;

Net Imports (M - X) = Rs.100

(o) Net exports (X - M) = Rs. (100)

In a four-sector model equilibrium level of output (Y):
Y=C+I1+G+ (X-M)

Y = (300 + 0.75Y) + (800) + (0) + (100)

Y - 0.75Y = 1,000

0.25Y = 1,000
Y= Rs.4000
PROBLEM NO:10
Investment (Rs.) Income (Rs.)
10,000 80,000
14,000 92,000

Change in Investment (Al) = 14,000 - 10,000 = Rs.4,000
Change in National income (AY) = 92,000 - 80,000 = Rs.12,000
Investment Multiplier (k) = AY /Al =12,000/ 4,000=3

Inference: For every Rupee increase in investment, national income increases by 3 times and hence
injection into economy occurs.

THE END
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